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DISTRICT COMMON EXAMINATION BOARD
PRE-PUBLIC EXAMINATIONS - 2014 - 2015
SOCIAL STUDIES - Paper - I
(Geography & Economics)

"~ (English Medium)
PART-A ; 3 ,
Class : X ] (Max. Marks : 35) [ Time : 2 Hrs.

: SECTION -1 (Marks : 10)
Note : 1. Answer any FIVE of the following questions, choosing atleast two
from each group A & B.
2. Each question carries 2 Marks.

Group - A

1.. How does the rivers helpful to human life ?

2. "Most children of migrant families become drop - outs.” Do you agfee
with this statement ? Justify your answer.

3. Observe the following climograph and answer the questions.

1) Which month received o
highest rainfall ?

ii) Which months
experience highest and
lowest temperature.

“”

wems Mean Maximum Temperature (°C)
s Mean Minimum Temperature (°C)

4. Observe the following bar graph and answer the following questions,

v Mean Rainfall {mm)

_Graph : India Populatioﬁ : Sex Ratio, 1951-2011
Male :

946

No. of femalies per 1000 males
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1) What is Sex Ratio ? ,
ii)In which year India experiences the highest difference in Sex Ratio.

: Group - B .
5. What main criterion is used by the world bank in classifying different

countries ? What are the limitations of the above criterion, if any ?
6. How does organis farming helps in Environmental protection.
7. Observe the following table and answer the following questions.

Daily Wages for different farm activities in Andhra Pradesh in December 2011 (in Rupees)
Trans- | Harvest- | Winnow- Picking

Threshi
planting ing ing i Cotton

‘Male 214 197 215 - 164 168 152 -

Work’ers Ploughing| Sowing | Weeding

Female o 152 130 . 143 126 124 | 118 136

i) Which activities the males are not involved ?
ii) Why do you think that females are paying less ?
8. Observe the following and answer the following questions.

1) What does the
graph tell about ?

i1) Which income group
is more in India ?

SECTION - II (Marks : 4)
Note : 1. Answer any FOUR of the following questions in one or two
sentences each.
2. Each question carries 1 Mark.

9. Abbreviate S.E.Z.
10. What is "Doab" ?
11. What is meant by "Density of population” ?
12. What is "Juggi Jhopdi" ?
13. Draw an outline map of India and show the onset direction of

South - West monsoon.

14. What is meant by G.N.P. ?
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SECTION - III (Marks : 16)

Note : 1. Answer any FOUR of the following questions, choosing atleast

two from each group A & B.

2. Each question carries 4 Marks.

15,

16.
17

Q
18.

Q

19.

Group -AA
If the Himalayas would have not been in its present position how
would be ‘the climatic conditions of the Indian Sub - Continent ?

How human activities contribute to Global warming ?

Medical research shows that given similar circumstances, girl children
survive much better than boys. Hence if there was no discrimination, the
number of girls should be higher or as much as boys. From the census
survey, we get another indicator. In India, 103 female babies are born
against 100 male babies. However, more female babies die than male
babies. The census shows that in the age group 0-5, the number of girls
who survive is much lower than boys. This can only happen if there is
some discrimination in their care and nutrition because otherwise*thej
physical chance of survival is better for girls. N
Read the above paragraph and write your own opinion.
Current laws on ground water use are inappropriate because thet basic
link between access to groundwater and land ownership on which these
rules are based are flawed. Since groundwater has to be extracted from
the land above, a link was established between land ownership and con-
trol. The water drawn from the uhderground system was assumed to be
‘owned' by the landowner. This implies that groundwater is mostly con-
trolled by individuals that own the land. Land owners were not restricted
in the amount of water they can take out.’ _
Suggest some appropriate instructions in the law for the better
consumption of ground water.

Group - B
What is the percapita income of Himachal Pradesh ? Do you think higher
incomes can make it easier for parents to send children to school ? Dis-

cuss. Why was it necessary for government to run schools in Himachal
Pradesh. :
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20. Look at the below pie charts and fill the following table.

Sectoral shares of employment Shares of three sectors GDP
1972 -73 -2009-10 1972-73 2009-2010
Servncos
259 | Agriculture
. 53%
Indus
22%
; Employment (%) Gross Domestic Product (%)
et 1972.73 2009-10 1972-73 2009-10
Agriculture 74% 2.7, ey 2, 17%
Industry " of 49 . 22% A ,.,/»4
Services Y 25% SE 1 —2/
21. 'Most children of migrant families become drop outs.' Do you agree

22.

with this statement ? Justify your answer.

Over the years, although there has been increase in production of other
food items, it is not sufficient to meet the minimum dietary require-
ments. Nutritionists suggest that every person in India should eat 300
grams of vegetables and 100 grams of fruits in a day whereas per person
availability of these food materials is 180 and 58 grams respectively.
Similarly per person requirement of eggs is 180 whereas the availability
of eggs is 30. The meat dietary requirements are 11 kilograms per year
whereas the per person availability is only 3.2 kilograms. We require
300 millilitres of milk whereas the per person availability is 210 millilitres
a day.

Q) Read the above paragraph and comment on the relationship of food pro- -

23

\

duction and food availability.

SECTION - IV (Marks : 5)
Locate the following in the given Indian map. :
a) 1) Indira Point ~ 2) Simla 3) River Narmada
4) Aravalli Hills 5) Circar Coast
(Or)
b) 1) River Godavari ,2) Indian Ocean 3K,
4) Nilagiri's 5) Islands emerged by Volcanic eruptions
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DISTRICT COMMON EXAMINATION BOARD
PRE-PUBLIC EXAMINATIONS - 2014 - 2015
- SOCIAL STUDIES - Paper - I
(Geography & Economics)
(English Medium)

PART -B
Class : X ] (Max. Marks : 15) : [ Time: § Hr.
I. Choose the correct answer from the following four choices and write
the answer in the brackets given below. : 20 x -% =10
1. The time difference between IST and GST is [ -
A) 5 Hrs. B)S: Hrs. C)6Hrs.  D)44 Hrs
2. Which of the following belongs to unorganised sector = ]
)
A) Banks B) Govt. Schools
C) Cultivation by small farmer D) Railways
3. River Brahmaputra rises from in Kailas range f ]
A) Trayambak B) Nasik
C) Manas Sarovar - D) Mt. Kailas -
4. controlls production in more than one country o S
~ A) Public sector - B) Unorganised sector
C) National company D) MNC
5. Government ensures better food security through ne- o | Jo
A) Private company B) Public Distribution system
C) Super markets D) MNC's
‘6. The main aim of Chipko movement in Uttarakhand is __ [ 9

A) Conservation of Forests: B) Conservation of Land '
C) Conservation of River D) Agricultural Development

. The total value of goods and services produced in the

country is . ‘ : [ ]
A) GNP B) MNP C) NDP D) GDP
[ Turn Over

Ksv KRISHNAREDDY, GHWMI, ZPHS, JAbANNADHAbIKI, KAJULURU MANDAL, EASIGUDAVARI. 9492146689






HNAREDDY, GHV AGANNADHA AJULURU MANDA

7




V KRISHNAREDD r “JAGANNADHA > AJULURU MANDA




GO17E
DISTRICT COMMON EXAMINATION BOARD
- PRE-PUBLIC EXAMINATIONS - 2014 - 2015
SOCIAL STUDIES - Paper - 11
(History & Political Life) '
(English Medium)
PART - A

- Class: X ] (Max. Marks : 35) [ Time : 2 Hrs.

SECTION -1 (Marks : 10)

Note:  Answer any FIVE of the following questions, choosing atleast
two from each group A & B.

Group -A Timeline
1. Observe the adjacent time line and Proctamation of the Welmar | edov. 5,

Republic. 1918

~ anSwer the following questions. iy SR i
Germany. 30, 1933

1) What is the main reason for the i i
2 Beginning of mecoondWodd
outbreak of World War - 11 ?

" | Germany invades the USSR. jsJune 22
o 1941

i) Which country did Hitler belong to ?
ii1) Who were killed in Auschwitz camps ?
" “iv) When did World War - Ti end ?

2. Observe the adjacent map and . m

answer the following questions.

i) Which neighbouring | ¥ep. :Area Under aparese =
country of India was ke 5 &
occupied by Japan ? Eo

i) What is Dutch East 4 -
India called now ? %y

iii) Most of the area under
control of Japan is a
part of which ocean ?

iv) Was Indiaunder control | T~ L f\ s b
of Japan ? — ot Sy AUSTRALIA >
¢ ~+= Boundaries, Dec. 194 NEW
— ] o ZEALAND
| e

-~ o 1000 2000kn
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3, ' The British were desperate with the Indian people revolting against
their rule. They looked for ways to punish the Congress and weaken
its hold over the people. The British actively raised doubts about the

right of the Congress to represent the people of the country. Now, they
- followed the 'Divide and Rule Policy' more vigorously.

Towards this end, the British government supported and encour-
aged the plans of the Muslim League and downplayed the importance
of the Congress. It is in these years that the Muslim League and its
leaders like M A Jinnah became more active in mass politics.

Q) Read the above parégraph and comment on the British policy "Divide
and Rule".

4. Make a table to sshow relation between India and neighbouring coun-
tries i.e., China and Pakistan with the following items : issues of con-
flict, events of war, events of help and co-operation.

Group - B
- '5. Write four saliant features in Indian Federal system.

6. Read the below paragraph and comment.

In Andhra Pradesh, the frequent change of Chief Ministers by
the central Congress leadership and the imposition of leaders from
above created a bad taste. There was a feeling that the Andhra Pradesh

leadership was not getting respect from the national Congi‘eés leader- «omsmmams

ship. This was perceived as an insult to the pride of the Telugu people.
N T Rama Rao (NTR), popular film actor; chose to take up this cause.
He began the Telugu Desam Party (TDP) on his 60th birthday in 1982.
He said that the TDP stood for the honour and self respect of the
Telugu speaking péople (Teluguvari atma gauravam). He argued that
the State could not be treated as a lower office of the Congress party.
Equally important were his promise of some very important welfare
measures for the poor including midday meal scheme in government
schools, sale of rice at Rs 2 per Kg to the poor and liquor prohibition.
These populist measures hclpéd the TDP sweep the 1982 elections.

7. How do you think RTI would help in improving and monitoring the
work of the governments.
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8. Observe the following bar graph and answer the following questions.
i) In which year highest number of amendments were done ?
ii) What is constitutional &t '
amendment ? , 20
iii) How many amendments S 15 is
were done till 2013.
iv) How many times the S
"~ Constitution amended in 5
between the years 1951 - 60.

0
1951-80 1861-70 1971-80 1881-90 1991-2000 2003-13

SECTION - II (Marks : 4)

Note : Answer any FOUR of the following questions.

9. Write about two main objectives of "Narmada Bacho Andolan"
10. Write two benefits of Lok Adalat
11. What is emergency ?

12. Expand WH.O.
13. What is "great depression” ?

14. Mark the following.
1) Hyderabad

2) Junaghad in the
Indian outline map.

SECTION - ITII (Marks : 16)

Note : Answer any FOUR of the following questions, choosing atleast two
from each group A & B. .
: Group - A
15. Do you find the presence of aggressive natibnalism, imperialism,
power blocks and militarism around us today too ? Give examples
.and discuss.
16. Compare the national movement in India and Nigeria. Can you
‘explain why it was stronger in India ? : :
‘ [ Turn Over
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1.

18.

D

Appreciate the role of Subhash Chandra Bose in Indian freedom
movement. :
What are the different roles done by UNO in order to build peace in

‘ the world ? R

Group - B
The Constitution thus has many provisions facilitating social change
You have read about abolition of Untouchability. The best example of
this is the provision for reservations for Scheduled Castes and Sched-

uled Tribes in the Constitution. The makers of the Constitution believed -

that the mere granting of the right to equality was not enough to over-
come age-old injustices suffered by these groups or to give real meaning

. to their right to vote. Special Constitutional measures were required to

advance their interests. Therefore the Constitution makers provided a
number of special measures to protect the interests of Scheduled Castes

- and Scheduled Tribes such as the reservation of seats in legislatures.

The Constitution also made it possible for the government to reserve
public sector jobs for these groups. :

Q) Read the above paragraph and comment about the measures taken by

20.

21.

22

- 1) What are the total number of Lok Sabha seats ?
iii) BJP means ?
iv) What is the criterion for forming government ?

23

Indian consmutlon for social change
How are rights of black people in USA and Melra Paibi movements
similar or different ?

In the early half of India after independence there was 1mportance given
to planned development In the later part emphasxs was given to
liberalisation. Discuss and find out how does it reflect polmcal 1deals ?
Results of General Elections - 2014.
Analyse the pie diagram and answer the
following questions. :

i) Which party formed government ?

SECTION - IV (Marks : 5)
Locate the following in the given World map.

__a) 1)England 2) US.A. - 3) Japan
~ 4)Vienam  5) Nigeda
(Or)
'b) 1) South Africa  2)Italy ~ 3) Bangladesh

4) China S05) Alistralia
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. DISTRICT COMMONlEXAMINATION BOARD
PRE-PUBLIC EXAMINATIONS - 2014 - 2015

SOCIAL STUDIES - Paper - II
(History & Political Life)
(English Medium)
PART -B
Class : X ] (Max. Marks : 15) o [Time: g Hr.
I. Choose the correct answer from the following four choices and write
the answer in the brackets given below. , 20x 3 =10
1. Which nation do the Nazi forces belongs to ? [ =
A) US.A. - B) Great Britain
C) Germany = D) Austria -
2. U.S.S.R. formed in : [ ]
A) 1918 ~ B)1924
O) 1917 D) 1939 ~
3. What does the term Genocide mean ? : : : [ ]

A) Murder of innocent people

B) Protestors Ralley

C) War between army and civilians
D) War between nations

4. The five year plans were introduced in Russia by . [= ]

A) Lenin
C) Kerensky

B) Gorkey
D) Stalin

5. When did Vietnam got its formal independence ?

A) 1945
C) 1943

B) 1946
D) 1947

6. Why did United States decide to mtervene the Vietnam war ? |

A) Because communist had gained power
B) Because Vietnam attacked united states
C) Because United States was a trading partner of France

[Turn Over
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15. ____ assassinated Rajeev Gandhi . [ ]
A) Maoists B) Taliban militants
C) Sikhs militants - D)LTTE _
16. Who Was the founder of Telugu Desam Party v [ ' ]

A) Y.S. Rajasekhara Reddy B) N. Chandrababu Naidu
C) K. Chandrasekhar Rao D) N.T. Rama Rao

17. Act had given army to arrest or even shoot people

simply under suspicion of being involved in anti - national
~activities = =]

A) RTI Act B) AFSPA '
C) Human Rights Act ~ D) Civil Rights Act

18. The famous speech "I have a dream" given by 3 ]
A) Malcom Ex B) Martin Luther King
C) Andrei Sakharov D) Solz Nitsin

19. According to RTI, every department must have the
following officer ' : [ ]
A) Grama Sevak ' B) Election Officer
C) Public Information Officer D) Mayor :

20. RTI was passed in the year = ]
A) 2003 ~ B)2004 ‘
C) 2005 ; D) 2006

IL. Fill in the blanks. - ' : 5x 3 =23

21. The expansion of NATO is :

22. Sailent valley movement took p]ace in : ' state.

23. India fought with Pakistan to liberate

24. The women of Dubagunta fought against

25. formed Guo mindang. . ;
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